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(m) (m) (m?2) (m) (m) WiEH (m2) | A (m3) | @l (m2) (m) (m) (m) WE (m2) | A (m3) | @l (m2) (m) (m2) (m) (m2) (m) (m2)
1 1.90 1. 50! 0.88 0.30 0. 40, 0.43 1.08
5,40 5.00 18.63 5.40 4.40) 418 13. 66 32.35 5,40 0.35 0.60) [T 4.16 2.70 4,50 14.40 1.85 7.91
9 5.00 4. 40 4.18 0.35 0. 60, 1.1 1.85
2.00 4.90 9.90 2.00 4.30) 4.03 8.21 17.67 2.00 0.35 0.60) 110 221 1.20 2.00 8.70 1.83 3.68)
3 4.90 4. 30, 4.03 0.35 0. 60, 1.10 1.83
5.90) 140 18.59 5.90 1.00) 0.53 13.45 31.75 5,90 0.30 0.40) 0.38 4.37 2.95 4,10 12.92 0.95 8.20)
0. 50, 0.23
i 0.30 0.50) 0.23 -0.07 -0.30
pen 47.12 36. 02
=F 13.30) 47.12+13.30 = 3.54m 13.30 3595 81.47 10.74) 6.85 36.02-1.80 = 20.01m 19.79
kiR (WU 65mm) = 17.66 m ( 4.42 & ) KiRT 1 LB —(p65m) = 21.00 {8 H—KL—JL (Gr-C-28) =7.00 m (R=30) , 6.00 m (R<30) ek (D13m) 7 AR x 2.982 = 20.87 kg Bt (10m) = 5.13 m2
OB M B O
BEL (IK)  BHRARE S B/#F IK BFRTHERE T (1) ST X 9 64 m GH-L-1(b.S) _ BiskZ4F (1:02) B NO. 102+6. 3~NO. 102+17. 4
HEET Atk i 2 (Frvbr—s) WEE HEEE
g5 m & 2 B BER E & & ER W B | & & [ 770 | ERA ER B B | B & AIE BB | ®m m EmiE | ® W
(m) (m) (m2) (m) (m) WiERE (m2) | AHE(m3) | B (m2) (m) (m) (m) WER (m2) | A (m3) | @#(m2) (m) (m2) (m___|___(m2) m__|__(m2
1 1.70 1. 30! 0.69 0.30 0. 40 0.38 1.36 1.36
2.50 3.20 6.13 2.50 2.60) 172 3.01 9.85 2.50 0.40 0. 60) 0.79 1.46 2.50 1.20 2.76 1.72 3.85 1.72 3.85
9 3.20 2. 60 1.72 0.40 0. 60 0.79 1.72 1.72
3.40 3.20 10. 88 3.40 2.60) 172 5.85 17.86 3.40 0.40 0. 60) 0.79 2.69 4.08 3.40 8.84 1.72 5.85 1.72 5,85,
3 3.20 2. 60 1.72 0.40 0. 60 0.79 1.72 1.72
4.20 1.40 9.66 4.20 1.00) 0.50 4,66 15.27 4.20 0.30 0.40) 0.36 2.42 4.20 1.60 3.68 1.30) 6.34 1.30) 6.34
0.51 0.23
i 0.30 0.51 0.23 -0.07 -0.31
pen 26. 67 15.28
: 10. 10) 26.67+10.10 = 2 64m 10.10 13.45 4267 6.57 10.78 15.28+1.80 = 8.49m 16.04 16.04
ki (VU p65mm) = 6.76 m ( 1.69 & ) KiRT 1 LB —(p65m) = 11.00 {8 H—KL—JL (6r-C-28) =500 m (R=30) , 4.00 m (R<30) ek (O13m) 5 AR x 2.982 = 14.91 kg Bt (10m) = 2.51 m2
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BT Ak Hit BiS (Rvvbo4—9) BER HEEF
&S E R EE RIEH E R E 5 av9 Y=+ S E K T—F 5 ERE EIPV A B B E R BiTE e m i Emig m i
(m) (m) (m2) (m) (m) Mg (m2) | AB(m3) | Ek(m2) (m) (m) (m) Mg (m2) | AB(m3) | @k (m2) (m) (m2) (m) (m2) (m) (m2)
| 0.50) 0.50 0.24) 0.55
2.00 3.00) 3.50 2.00) 3.00 2.55 2.79 7.15 2.00 0.80 2.00) 1.30 1.85
) 3.60) 3.00 2.55 0.35 0.60 0.99 1.65
4.60 4. 50) 18.63 4.60 3.80 3.69 14.35 31.97 4.60 0. 40) 0.70 1.36 5.41 2.99 4.60 15. 64 1.94 8.26
3 4.50) 3.80 3.69 0.40) 0.70 1.36 1.94
4.80 2. 60) 17.04 4.80 2.10 1.50 12.46 28.94 4.80 0.30) 0.50 0.67 4.81 2.88 4.80 14.16 1.33 7.85
B 2. 60) 2.10 1.50 0.30) 0.50 0.67 1.33
5.50 1.00 9.90 5. 50 0.70 0.35 5 00 15.74 5.50 0.30) 0.30 0.27 2.50 2.20 0.40 0.82 0.91 6.16
0.68 0.34)
2R 0.40 0.68 0.34) -0.14 -0.56
ast 49.07 32.62
i 16.90 49.07+16.90 = 2.90m 16. 90 34.55 83.24 12.87 8.07 32.62+1.80 = 18.12m 24. 12)
kiR (VU 65mm) = 17.35 m (4.34 & ) KIRT 4 LB —($65mm) = 21.00 f@ H—KL—JL (Gr-C-2B) = 17.00 m (RZ30) , 0.00 m (R<30) WA (D13mm) 9 »FF x 2.982 = 26.84 kg Bi#F (10m) = 7.22 m2
(55, SEITIEHE)
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| 0. 50) 0.50 0.24] 0.55
2.00 3.00) 3.50 2.00 3.00 2.55 2.79 7.15 2.00 0.80 2.00 1.30 1.85
) 3. 60) 3.00 2.55 0.35 0.60 0.99 1.65
4.60 4.50) 18.63 4,60 3.80 3.69 14.35 31.97 4.60 0.40) 0.70 1.36 5 41 2.99 4.60 15. 64, 1.94 8. 26|
3 4.50) 3.80 3.69 0. 40) 0.70 1.36 1.94
4.80 2. 60) 17.04 4.80 2.10 1.50 12.46 28.94 4.80 0.30) 0.50 0.67 4.81 2.88 4.80 14.16 1.33 7.85
o 0.68 0.34]
2% 0.40 0.68 0.34) -0.14 -0.56
ast 30.17 31.80
o 11.40 39.17=11.40 = 3. 44m 16.90) 29.46 67.50 10.28 5.87 31.80=1.80 = 17.67m 17.96
kiR (VU 65mm) = 14.73 m ( 3.68 & ) IKIRT 4 LB —($65mm) = 17.00 {@ H—KL—JL (Gr-C-28) = 7.50 m (R=30) , 0.00 m (R<30) HWeagkE (D13mm) 7 »FF x 2.982 = 20.87 kg B4 (10mm) = 5.05 m2
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